PHILIPS L

GRAMOPHONES

22G A147/002/01Z104Z16Z/22ZI33Z/67Z

PHILIPS TGR 2397
The 22GA147 is a record changer on a tray with cover. For De 22GA147 is een platenwisselaar op bak met deksel. Voor
repair and replacement of parts of this player see the service reparatie en vervanging van onderdelen van deze wisselaar zie
notes of the 22GC047 with the exception of the parts mentioned de service-documentatie van de 22GC047 met uitzondering van
below: de codenummers in de onderstaande stuklijst:

Frame assembly 4822 444 50131 Samenstelling bak 4822 444 50131
Bottom 4822 444 50132 Onderbak 4822 444 50132
Foot 4822 462 40075 Voet 4822 462 40075
Voltage adapter 4822 272 10083 Spanningscarrousel 4822 272 10083
Self tap screw 4822 502 30001 Zelftappende schroef 4822 502 30001
Cover for flex compartment 4822 444 60159 Deksel voor snoeropbergruimte 4822 444 60159
Screw M4x45 4822 502 10866 Schroef M4x45 4822 502 10866
Screw M4x20 4822 502 10051 Schroef M4x20 4822 502 10051
Cover ’ 4822 444 30119 Deksel 4822 444 30119
Plug 4822 264 40023 Steker 4822 264 40023
Mounting plate assembly 4822 444 30128 Montageplaat 4822 444 30128
Le 22GA147 est un changeur de disques sur cuvette avec Der 22GA147 ist ein Plattenspieler auf Zarge mit Deckel. Fir
couvercle, Pour la réparation et le remplacement des piéces Reparatur und Ersatz von Einzelteilen, wird auf die Kunden-
du changeur, consulter la documentation de service du 22GC047, dienstanleitung des 22GC047 verwiesen, mit Ausnahme der

A 'exception des numéros de code dans la liste ci-dessous. Kodenummern in der nachstehenden Stiickliste:

Ensemble cuvette 4822 444 50131 Zusammenstellung Zarge 4822 444 50131
Boftier inférieur 4822 444 50132 Untergehduse 4822 444 50132
Pied 4822 462 40075 Fuss 4822 462 40075
Sélecteur de tension 4822 272 10083 Spannungswihler 4822 272 10083
Taraud 4822 502 30001 Gewindeschraube 4822 502 30001
Couvercle pour cordon de secteur 4822 444 60159 Deckel des Kabelfaches 4822 444 60159
Vis M4x45 4822 502 10866 Schraube M4x45 4822 502 10866
Vis M4x20 4822 502 10051 Schraube M4x20 4822 502 10051
Couvercle 4822 444 30119 Deckel 4822 444 30119
Fiche 4822 264 40023 Stecker 4822 264 40023
Plaque de montage 4822 444 30128 Montageplatte 4822 444 30128

El 22GA147 es un cambiadiscos con pedestal y tapa.
Para reparaci6n y sustitucién de componentes del cam-
biadiscos se remite a la documentacién de Servicio del
22GC047, excepcién hecha de los nos de c6digo en la
lista de componentes a continuacién.

Conjunta pedestal 4822 444 50131
Caja inferior 4822 444 50132
Pie 4822 462 40075
Selector de tensién 4822 272 10083
Tornillo roscante 4822 502 30001
Tapa de compartimiento de cordén 4822 444 60159
Tornillo M4x45 4822 502 10866
Tornillo M4x20 4822 502 10051
Tapa 4822 444 30119
Clavija 4822 264 40023
Placa de montaje 4822 444 30128

SERVICE
INFORMATION

CS22169 Copyright Central Service N.V. PHILIPS’ GLOEILAMPENFABRIEKEN, Eindhoven 4822 726.1.0505

Printed In the Nethertands





